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I argue that S+V, because S+V

I believe that S+V, for S+V

I am certain that S+V, for the reason that S+V

Given that S+V, I conclude that S+V

It follows from X that S+V. OXO OO S+V O OO

I conclude that S+V, because of

My conclusion is that S+V

As indicated /shown by X, I argue that S+V. 0XOOOOODOOOOO
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AUTHORITY : OO

There is no authority.

BIAS : DO00OODODOO

Negative evidence (is) biased.

EMPIRICAL : 00O0ODO
Turns empirically untrue.

There is no empirical link.

EVIDENCE (CARD) : 0000
There is no evidence that indicates ...
First of all evidence is old.

This evidence is ridiculous.

Evidence is a complete blurb. (You) should not accept it.
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PROVE : 000O0O0OOO
She didn’t prove ...

QUALIFICATION : 00O@O

There’s no qualification on any of this evidence. We’re reading
qualified sources through the constructives.

REASON : OO

There’s no reason in the evidence why ... There’s no reason for
that.
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APPLY : 00000
I don’t think it applies.
Their evidence does not apply.
All of arguments apply.

She says, our evidence does not apply.

IRRELEVANT : 0000
He said, ... is irrelevant, but ...

I'm going to grant six and seven. Free speech is irrelevant. Makes

all the turns irrelevant as well.
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ADMIT : OO0

She admits to me in cross-exam at ...

CONCEDE : 000
We’ll concede number one ...
FLIP/TURN something BACK ON them : 000000000
ooooo
...flipping back all of his arguments.
We flip this back on them.
..., which turns case back on them.

turns their card back on them.

GRANT : 000 I'm going to grant six and seven.
She grants link to religion.
.. is granted at the top of A subpoint.

I'll grant them the arms race.

He grants our evidence.
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1. State the point which is to be refuted.
gdododoouooouootd

2. State his [sic] own position on the point.
gooboooobbbooobobobboooooomm

3. Make the argument which proves his [sic| position.
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4. Relate the point to the opponent’s position.
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(1) Our opponents have claimed that federal funding will make taxation
less regressive. (2) I argue that the advantage is not unique to the plan. (3)
The present system of financing schools can be reformed so that the schools
can be financed through state income taxes, and the local property tax itself
can be improved. (Present the proof.) (4) Therefore, we do not need the
affirmative plan to gain less regressive taxes; we can get the advantage by the
status quo.
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My third argument denies this, because —

My third argument denies this, because —

[

My third argument denies this, because —

L e

— «— This argument is based on dubious presuppositions, because —
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— «  Group arguments 1 to 3 together.
— My third argument denies these, because —

L e

— «— This argument is based on dubious presuppositions, because —
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GROUP : 0000
Four, five, six and seven, group it.
Extend third and fourth arguments, where he groups them.
Accidents, group it together.
Group his arguments together.
Group this point together.

Just group his arguments together.
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ADMIT/GRANT : 00O

She admits to me in cross-exam at ...

ADVANTAGE : 0000000

There’s no advantage to this.

ANSWER : 00 (00)000 (O)
Her new answer will be evolved.
She doesn’t attempt to answer ...
There is no answer to ...
She still doesn’t answer our impact.
We'll answer more on the second disad(vantage).
The third card in the 1AC, answers this.
He’s dropping my answer. [
He has no answer to that before.
That’s the fourth answer on the CO2 disadvantage up above.

He virtually has no answer here.

APPLY : 00000
This clearly doesn’t apply to feminism, given that ...

He needs to apply them specifically into that, and when he does then new answers
will be evolved.

I don’t think it applies.
Their evidence does not apply.
All of arguments apply.

She says, our evidence does not apply. [0 She does not explain this argument what-

soever.
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ARGUE/ARGUMENT : 000000
This argument is merely that ...
He’s making no argument as to why ...
We argue in the second affirmative with evidence that ...
Which proves my argument which I made in cross-exam.
I'll argue below that ...
Please go to where we argued.
First of all, this is brand new. 0 He never argues that before.

She does not explain this argument whatsoever.

ASSUME : 0000

It doesn’t assume the NPT (Non Proliferation Treaty) will collapse, which we’ll win
down below.

ATTEMPT : 000

She doesn’t attempt to answer, ...

AUTHORITY : 00O

There is no authority.

BIAS : 000O0O0O0OO
Negative evidence biased.

(syn.) It’s distorted.

BRINK, ON THE BRINK : 00000000
we’re on the brink.

we're brink right now.

CARD (EVIDENCE) : OOOO

I read six cards in the first negative constructive all saying ...

CONCEDE : 00O

We'll concede number one ...

CROSS-APPLY : 0000000000 O0OOOOOOODDDOOOODOOODOOO
oboooobooboom

I clearly cross-apply at the bottom of the CO2 disadvantage all answers to the other
disadvantages, —
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DISAD (DISADVANTAGE) : 00O00000O0O
If they had run disad(vantage)s to this, — 87

Third, there’s no disadvantage here, —84

DROP : (00O0)000O0O
He’ dropping all of my evidence that says that ...
The evidence is dropped, which proves ...
He’s dropping my answer.
They have dropped all the evidence saying ...
All that evidence is dropped.
There’s no right to look at it which is all dropped in 1NR.
He drops my third argument, ...

EMPIRICAL : 00O0O0O
Empirically denied.
Empirically it’s not.
It’s empirically true.
It’s empirically disproved.
Turns empirically untrue.
There is no empirical link.
INR empirically denies the disad(vantage).
He just says empirically.
None of this has ever happened empirically.

I mean it has been empirically denied.

EVIDENCE (CARD) : 0000
He’s dropping all of my evidence that says that ...
We argue in the second affirmative with evidence that ...
More impact evidence from Professor Hirai in 1990
Our evidence indicates that ...
That’s the evidence in 1AC.
There is no evidence that indicates ...

..., which is the link evidence in 1NC.
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The 1INC link evidence from Professor Matsumoto says that ...
That’s the evidence on the case.

Our evidence is, on balance, better.

Our evidence on point says that ...

He’s reading evidence that says empirically ...

First of all evidence is old.

This evidence is ridiculous.

Evidence of the first contention says that ...

Evidence is a complete blurb. Should not accept it.

EXPLAIN : 0000
I’ll explain on it.
I explain down below indicating ...

.. which I explained above.

EXTEND : 000000000
Please extend the third card on A subpoint.

He extends down below ...

FLIP/TURN something BACK ON them : 0 0000000000000
...flipping back all of his arguments.
We flip this back on them.
..., which turns case back on them.

turns their card back on them.

GRANT : 00O0O
I'm going to grant six and seven.
She grants link to religion.
.. is granted at the top of A subpoint.
I'll grant them the arms race.

He grants our evidence.

GROUP : 00O OO
Four, five, six and seven, group it.

Extend third and fourth arguments, where he groups them.
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Accidents, group it together.
Group his arguments together.
Group this point together.

Just group his arguments together.

INDICATE : 00O
We indicate that ...
I explain down below indicating ...
She says, never in the past, and we indicate now is a unique time,..
There’s no evidence indicating ...

Fourth argument in 1AR was dropped indicating ...

IRRELEVANT : 0000
He said, ... is irrelevant, but ...

I'm going to grant six and seven. Free speech is irrelevant. Makes all the turns
irrelevant as well.

JUSTIFICATION : 00O

There is no justification for the new argument in the 2NR.

LINK : 00000000
No link.
.. which means there is no link.
He says there is no link. Yes it is. It’s very specific.
This proves link to religion.
Double link to ...
The technology link isn’t unique.

LIKELY : 00O0O0O
It’s more likely than ...

It’s the most likely scenario for war.

MEAN : 0000
S+V which means S+V.

ON BALANCE : 000000000 O0OOOOOO

Our evidence is, on balance, better. [
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OUTWEIGH : 0O0O0OO
I think any increment would outweigh.
I think it’s going to outweigh the case.

Our links outweigh theirs.
POINT : 00O 0ODOO My point here is merely that ...

PROVE : 00O0OO0OOO
She didn’t prove ...
The case side evidence proves this.
..., proving uniqueness to turns.
The evidence below proves that ...
To do a permutation would prove ...
It’s irrelevant. Courts still prove the disad(vantage) is not unique.
Their evidence on the third argument all proves that ...

... prove itself not true in the future ...

QUALIFICATION : OO0

There’s no qualification on any of this evidence. We're reading qualified sources
through the constructives.

REASON : 00O
There’s no reason in the evidence why ...
There’s no reason for that.
Our evidence gives concrete reasons.
I mean that’s no reason you can accept it.

There’s no reason not to accept it.

RESPONSE/RESPONSIVE : 000000
His next response is that ...
That’s the same response as five.

She’s not responsive.

RISK : 000000
I'm going to give you absolute risk on these disad(vantage)s.
There’s no risk of ...

He says escalation risk is low.
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SAY : 000
That’s all up above saying that ...

SCENARIO : 0O0ODO
It’s the most likely scenario for war.

There’s no scenario for this.

SOLVENCY : 000
That’s the way they get the solvency.

SOURCE : 00O
We're reading three cards from Habermas, who’s an incredibly qualified source.
We're reading qualified sources through the constructives. 0 0 0O 0O O

It’s more qualified source, it’s an expert on ...

SPECIFIC/GENERIC : 0000000/0000
It’s not specific to ...

These are generic cards.

STATUS QUO : 00O

.. already in the status quo.

TAKE OUT : 00O0O0O
My brink card takes this out.
That’s all taken out above ...

All my evidence takes out all their argument.

UNIQUE : 00000
He says, non unique, ...
..., proving uniqueness to turns.
Second disad(vantage), which is a unique scenario.

.. and we indicate now is a unique time.
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